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Note : Answer questions from all sections as per instructions. 

SECTION - A 

Attempt any two questions from this section in 

about 500 words each. 	 2x20=40 

1. 'Economics is a science of choice-making'. Explain 

this statement with the help of production 

Possibility curve. 

2. With the help of indifference curves, distinguish 

between Income Effect and Substitution Effect. 

Also draw an Income Consumption Curve if one 

of the two commodities is an inferior good. 

3. What do you mean by demand for money ? 

Describe different motives for holding money as 

propounded by Keynes. 
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4. 	Discuss the Ricardian theory of comparative cost 

advantage of international trade. 
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SECTION - B 
Attempt any four questions from this section in 

about 300 words each. 	 4x12=48 

5. What is short -run production function ? Explain 

the law of variable proportions with the help of a 

diagram. 

6. Define inflation. Giving reasons, distinguish 

between demand -pull inflation and cost-push 

inflation. 

7. Discuss the concept of marginal propensity to 

consume (MPC). Show diagrammatically the 

relation between MPC and investment multiplier. 

8. What is National Income ? How is national 

income in India estimated ? 

9. 'Is profit a reward for innovation' or is it a reward 

for bearing risk and uncertainty ? 

10. What are the main characteristics of the oligopoly 

form of market ? Also explain in brief the concept 

of 'Cartel' in the given context. 

11. Distinguish between income elasticity of demand 

and price elasticity of demand. Income elasticity 

coefficient for commodity-X is — 0.25 and for 

commodity-Y it is +0.15. How will you interpret 

these results ? 
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SECTION-C 

Attempt both the questions from this sections. 2x6=12 

12. Highlight the 'backward bending supply curve of 
labour'. 

13. Explain any two of the following concepts : 
(a) Giffen goods 

(b) Terms of Trade 

(c) Public Goods 

(d) Indifference map 
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